
    a =  37                 
            10   

120 :  (8 + 4 ) x 10 = 12 x 10 = 120 

88 : ( 8 x 10 ) + ( 2 x 4 ) = 80 + 8 = 88 

180 : (4 x 25 ) + ( 8 x 10 ) = 100 + 80 = 180 

30 : ( 8 x 4) – 2 = 32 – 2 = 30 

56 :  ( 4 x 10 ) + (2 x 8 ) = 40 + 16 = 56 

125 : [ ( 8 + 2 ) x 10 ] + 25 = (10 x 10 ) + 25 = 100 + 25 = 125  

Fractions décimales et ligne graduée 

 

 

35 
10 

42 
10 

450 
 10 

395 
100 

407 
100 

410 
100 

b =  55 
       10 

c = 385 
       100 

d = 40 = 4 
       10 


